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Guess Paper – 2010
Class – X

Subject – Maths 
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General Instructions:

· All questions are compulsory.

· The question paper is of 30 questions divided into four sections –A, B, C and D. Section A contains10 questions of 1 marks each. Section B is of 5 questions  of 2 marks  each ,  section  C is  of  10 questions of 3 marks each and Section D is of 5questions of 6 marks.

· There is no overall choice.

· In question on construction, the drawing should be neat and exactly as per the   given measurements.

· Use of calculator is not permitted.

· No credit will be given for cutting, scribbling in section A  

(SECTION –A)

1. What is the solution of the system of equation a1x+b1y+c1 = 0 and a2x+ b2y+c2 = 0, if the graph of the equation intersect each other at point P (a , b).

2. If the centroid of triangle ABC with A(3x+5, –y–2),B(2x–1,4y+3), C(2–x,6y+5) coincides with origin, then, xy =_______. 

3. If shadow of a pillar is 
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 times of its height, then altitude of sun is _______. 

4. Is 
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 a non-terminating decimal, why?

5. What is common difference of the AP: a+2b,a ,a – 2b … … … 

6. What is the relationship between sum of zeros of a cubic polynomial ax3+bx2+cx+d        (where a ( 0) and its coefficients?
7. If ratio of areas of two equilateral triangles is 25:49, then what is ratio of their corresponding sides?

8. The distance  between the points (cosθ, sinθ) and (sinθ, -cosθ) is

                          (a) √3 
(b) √2 

(c) 2 

(d)  1

9. A vertical stick 20m long casts a shadow 10m long on the ground. At the same time a tower casts a shadow 50m long on the ground. The height of the tower is                                 (a) 100m 
(b)120m 
(c) 25m 
(d) 200m

10. From a point Q, the length of the tangent to a circle is 24cm and the distance of Q from the centre is 25cm. The radius of the circle is 


                                                  (a) 7cm 
(b) 12cm 
(c) 15cm 
(d) 24.5cm

(SECTION –B)
11. Use Euclid’s division algorithm to find the HCF of 426 and 576.

12. Find the value of x if tan3x = sin45o.cos45o + sin30o.

13. Find the quadratic polynomial whose zeros are 3 and -5.

14. In an obtuse triangle, obtuse angled at B, if AD is perpendicular to CB produced, 

prove that  AC2 = AB2+BC2+2BC.BD.

15. In a leap year find the probability that there are 53 Sundays in the year.

(SECTION –C)

16. If a cosθ – b sinθ = c, Prove that a sinθ – b cosθ  = 
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Or If SinΦ + CosΦ = [image: image5.png]


 CosΦ, then show that CosΦ – SinΦ =[image: image7.png]


 SinΦ .

17. A ladder rests against a wall at angle ‘α’ to the horizontal. Its foot is pulled away from the wall through a distance ‘a’ so that it slides a distance ‘b’ down the wall making an angle ‘β’ with the horizontal. Show 
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18. A cylindrical container is filled with ice cream whose diameter is 12cm and height is 15cm.The whole ice cream is to be distributed to 10 children in equal cones having hemispherical tops. If the height of conical portion is twice the diameter of its base, find the diameter of ice cream cone.

19. In a right-angled triangle ABC, right angled at C, a point D is taken on AB.                Prove that 
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20. 
[image: image10]In a ∆ABC AC = 12cm, BC = 8cm and AB = 10cm. A circle is inscribed touching AB at D, BC at E and AB at F. Find CD, AF and BE.
21. Use a single graph paper draw the graph of following equations:                

            2y-x = 8;5y-x = 14;y – 2x = 1

22. Solve the following system of equation:
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23. A boat covers 32 km upstream and 36km downstream in 7hours. Also, it covers 40km upstream and 48km downstream in 9 hours. Find the speed of the boat instill water and that of stream.

24. Solve the quadratic equation ax2 +bx +c = 0 by method of completing the squares.

25. In a potato race, a bucket is placed at the starting point, which is 5m from the first potato and other potatoes are placed 3m apart in a straight line. There are ten potatoes in a line. A competitor starts from the bucket, picks up the nearest potato, runs back to pick up the next potato, runs to the buckets to drop it in and she continues in the same way until all the potatoes are in the bucket. What is the total distance the competitor has to run?

(SECTION –D)
26. At the foot of a mountain, the elevation of summit is 450. After ascending 1 km to wards the elevation up an incline of 300, the elevation changes to 600 find the height of the mountain.

27. (a)State and prove Pythagoras theorem.
(b)In an equilateral triangle ABC, D is a point on side BC such that BD = [image: image14.png]


 QUOTE  

1/4BC, Prove that 
16AD2 = 13AB2.

28. A motorboat takes 6 hours to cover 100km down stream and 30km upstream. If the motorboat goes 75km down stream and returns back to its starting point in 8hours, find the speed of the motorboat in still water and the rate of the stream.

29. Derive the formula of area of triangle ABC, the coordinates of whose vertices are A(x1,y1) B(x2,y2) and C(x3,y3)

30. Find the median of the following data and Draw the less than and more than type graph and verify the median.
	MARKS
	NO.OF STUDENTS

	10 AND ABOVE
	120

	20 AND ABOVE
	105

	30 AND ABOVE
	93

	40 AND ABOVE
	70

	50 AND ABOVE
	50

	60 AND ABOVE
	27

	70 AND ABOVE
	12

	80 AND ABOVE
	7

	90 AND ABOVE
	0
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